Realiza las siguientes operaciones combinadas:

12-34+ (3+4-5)-5k+2 =

23— (2+7)2+ (7+5-9)+320[317 =
2.13+1/169 - (3-2)2-47145- (3+2-4) -2 =
3.[4.5_42]+\/m_31uu.31000;3109?...12 —
2-(10-5)2-4-712++/(4-3+13) = (10100)0-15 =
35+710.751713—(7+3)2++/196 +13456°+3 =>
30-4-5+(2+3)2-9-4+1 =

8- (3+2-2)+/121-76/74+100/5+24 =>
14+5100 (598 - /9545 + (1+3.5)-3-3.25 =>
971(95-92)+ (7-2-3)0~ (100/14-33+4) =»
\/42+432 +3.7-144112-39+5-(37/37) =
48.451411=(121111)04,/123+46 -125/5 =»
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12-34+ (3+4-5)-5k+2 = 0

23— (2+7)2+ (7+5-9)+320[317 = 21
2-13+/169 - (3-2)2-47145-(3+2-4)-2 => 0
3-(4-56-42)++/4.5-4=3100.31000 /31097 4 12w 1
2.(10-5)2-4.712+/(4-3+13) = (10100)0-15 => 25
35+710.75(713 = (7+3)2++/196 +13456°+3 => 2
30-4-5+(2+3)2-9-4+1 = 0
B-(3+2-2)+/121-76/74+100/5+24 => 7
14+5100 (598 = /9545 + (1+3.5)-3-3.25 => 2
971(95-92)+ (7-2-3)0~(100/4-33+4) =» 0
\/42+32 +3.7-144112-30+5-(37[37) = 18
48.451411=(121111)04,/123+46 -125/5 => 3
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